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dd_rms vs run
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USr_rms vs run
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dsl_rms vs run
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dsr_rms vs run
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atll _rms vs run
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atl2_rms vs run
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atrl_rms vs run
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atr2_rms vs run
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ld_bcm_an_ds_mean vs run
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bcm_an _ds rms vs run
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ld_bcm_an_ds3 _mean vs run
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bcm_an _ds3 rms vs run
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ld_bcm_an_us_mean vs run
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bcm_an uS_rrms vs run
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yield_bcm_dg _us_mean vs run
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yield _bcm_dg_us rmsvs run
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yield_bcm_dg_ds_mean vs run
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ds_rms vs run
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yield_cav4bQ rms vs run
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yield_cav4cQ_rms vs run
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mean vs run
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yield_cav4dQ _rms vs run
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Id_bcmO0I02_mean vs run
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bcmO0I02_rms vs run

yield

< 0

M <

= &

D o

T ©

%O

9+

©c 9

1 0
o))
o

[T

5

c

~

N (@]

< o
[ ]

Leln

[
oo T am <t 0w o o o am st o T NnNo o F am o N ot n o o v o

J

uu___ __ ___ [ 11 __

O < N

'S6.9
'S6.S
V6.9
V6.5

V6.9

‘€6.S
‘€649

‘€619
‘€649

‘€619
‘€649
‘€649

2615
6.9

'¢6.S
'¢6.S

‘1649
‘0645

‘0649
‘0645
'68.S

‘68159
'68.S

‘6819
'68.S
‘8819

‘8819

/8.9
/8.9
'/8LS

/8.9
'/8.S

/8.9
'/8LS
9819



yield_bpm2i01WS_mean vs run
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yield_bpm2i01WS_rms vs run
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yield_bpmOi07WS_mean vs run
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yield _bpmOiO7WS_rms vs run
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mean vs run
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yield_bpmOIO1WS rms vs run
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bcm_an _ds rms vs run
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bcm_an _ds3 rms vs run
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bcm_an uS_Irms vs run
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asym_bcm_dg_us_mean vs run
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asym_bcm_dg_us_rms vs run
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asym_bcm_dg_ds _mean vs run
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ds_rms vs run
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yield_bpm11X rms vs run
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Y_mean vs run
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yield_bpm11lY_rms vs run
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X_mean vs run
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yield_bpm12X rms vs run
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